BJ130
RotiS ] ves oo

M8#!

fafizRE

1

M10 ~ M168! T
% -
% One Point M A RiZE
O = NE B |
HrEBRE o Le e
o SCM435
i FEXE K
&% 15 BJ530 | 91K . (S HRP.374) WEN =%
i B B R s REHE
W RE
SR ‘
S | -
w L]
| & BJ130-08"*(M 8R3H)--+{74210mm
| ﬁ BJ130-10**(M1ORSH)- - -{T4212mm
| BJ130-12**(M12R~})- - -{73215mm
/ BJ130-16**(M16RF)- - -T#215mm
7
WS HIRE I 5%
M8E! M128! M168!
¢ 1818538 b 251882 3210950
|
‘ |
[Te)
&Y @ ‘ o ‘ o
! _ 1 ! < | <
o | |
N o
—_ 1 N T
M8x1.25 © ‘ ©
[a\} N
M10X1.5 B |
M12X1.75 M16x2/ ?

ERFIR EBRNER AR RAR, HREERTMI.



Eidl = R R1 M L1 (hD7) H1 M L H
BJ130-08020 | 20 |
BJ130-08025 | 25 - - | 18 | 28 | M8x12550L | 21 | 37
BJ130-08030 | 30 | 20
BJ130-10030 | 30 | 20
ENEOTOOR 0 | 25 - - | 20 | 30 | MI0X15-65L | 21 | 54
BJ130-12040 | 40 2 | 66
BJ130-12050 | 50 - -
BJ130-12060 } 60 | o 25 | 39 | M12x1.75-80L il B
BJ130-12140 | 40 31 ' 26 | 66
BJ130-12150 | 50 M12x1.75 | 38 o1 | 68
BJ130-12160 | 60 46
BJ130-16040 | 40
BJ130-16050 | 50 - -
BJ130-16060 | 60 | 25 32 | 39 | Mi6x2 -85L | 26 | 75
BJ130-16150 | 50 38
BJ130-16160 | 60 M2x1.75 [74g
w s [w [ w48 sl
BJ130-08020 15 38 90
BJ130-08025 | 22 | 10 | 12 | 12 33 100
BJ130-08030 10 30 105
BJ130-10030 13 38 165
BJ130-10040 | 2 | * | Ty 32 180
BJ130-12040 16 | 18 60 305
BJ130-12050 g |1 50 360
BJ130-12060 | ,, | o 12 46 380
BJ130-12140 16 | 18 60 295
BJ130-12150 5 14 50 350
BJ130-12160 12 46 370
BJ130-16040 38 170 530
BJ130-16050 31 150 580
BJ130-16060 | 36 | 22 | 21 | 26 130 625
BJ130-16150 31 150 565
BJ130-16160 26 130 610

B ESHIRPER AT RELE.
5[Bys30 |$ARECEE AR, 1ES R[50 | WM EITEERE.
(B88P.374)

TERYIEIR, 5T ks EATFRFIE,
A BB E AT B



